New Maths GCSE: S3 - Intepreting Histograms

What is the
frequency of
Group 1?

A) 0.5
B) 80
C) 20

D) 40

Correct Answer: ABCD
Explanation:

What is the
frequency of
Group 2?

A) 20
B) 30
C) 10

D) 0.5

Correct Answer: ABCD
Explanation:

What is the
frequency of
Group 1?

A) 20
B) 20/6
C) 120

D) 26

Correct Answer: ABCD
Explanation:
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Correct Answer: ABCD
Explanation:

What is the

frequency of

Group 4?

A) 60

B) 520 :

C) 15 : e S AE

D) 30 ..........................................................................

Correct Answer: ABCD

There are 10 Freausney Dansay

eople in Group 1. .
Wotlsthe Explanation:

Frequency Density
of thatgroup? L Wl | iieisesessessrea e
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Correct Answer: ABCD

There are 8 people | Fewsreyowsny

in Group 2. What is . .

the Frequency Explanation:

Density of that

{0 ] S
A) g8 B OB ] e
B) 80

C) 8/15 . 1

D) 0.8 ..........................................................................

There are 10 Fraquency Danssy

Correct Answer: ABCD
people in Group 4.

What is the Explanation:

Frequency Density
of that group?

A) 3

B) 1

C) 10

D) 0.3333 ..........................................................................
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Correct Answer: ABCD

There are 15 Fraaumncy Dwaty
people in Group 5. : .
What is the Explanation:
Frequency Density
of that group?

A) 0.3

B) 0.75

C) 15

D) 30 ..........................................................................
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